
I N S T A L L A T I O N  I N S T R U C T I O N S

Page 1 of 2

WBB500HR
Universal Wall Bracket

Includes:

Instructions:

Bracket Arm (x2)

Extend bracket arms.

Tighten two bolts 
on each arm

Anchors

Anchors
Anchors

(A)

(B)

(B)

(B)

(B)

(C)

(C)

(D)

(D)

M10

M10

(A)

STEP 1 STEP 2
Level and attach crossbar with two lag screws or 
anchors provided (substitute other fastener types where 
appropriate). Slide extended bracket arms onto crossbar.

STEP 5
Position arms to accommodate equipment measurements 
and tighten set screws. Use remaining lag screws or anchors 
to secure bracket arms.

condenser foot

STEP 7
Position mounts to accommodate equipment 
measurements. Place condenser on mounts 
aligning holes in feet with center hole in 
mounts. Attach using 4 provided M8 bolts.

STEP 6
Install support arms inside Horizontal 
arms and tighten M10 hex bolts.

STEP 3
Insert clear clip/nut into mounting 
key hole from below arm. Attach 
rubber mount through key hole, 
aligning center hole with clip/nut. 
Repeat and slide all four mounts to 
the center of their respective slots.

<

STEP 4
Unscrew rubber stand-offs on the back of 
each arm as needed to level both arms.

Crossbar (x1) Support Arm (x2) Rubber Mount (x4)
M8 x 30mm Hex Bolt (x4)
Clip Nut (x4)

M10 x 60mm
Hex Bolt (x2)

M6 x 16mm
Set Screw (x2)

P RO D U CT  CO D E  8 7 74 0



Page 2 of 2

WBB500HR
Universal Wall Bracket

Manufactured by

RectorSeal, LLC
2601 Spenwick Drive    Houston, TX 77055, USA   800-231-3345    Fax 800-441-0051   rectorseal.com
A CSW Industrials Company. RectorSeal, the logos and other trademarks are property of RectorSeal, LLC, its affiliates or its licensors and are protected by copyright, trademark and other intellectual property laws, and 
may not be used without permission. RectorSeal reserves the right to change specifications without prior notice. ©2022 RectorSeal. All rights reserved. R50899-0122

Limited Warranty

For more information on our product limited warranty, visit RectorSeal.com

Unit Size Maximum Height Risk Category Minimum Wall Requirements
Anchors

A B C D

Small, Medium& Large 30' BLDG Risk Cat II, Exposure C f'c >= 3000 PSI (20.7MPa) Concrete for 
Cracked and Uncracked Concrete a a a b

Small 30' BLDG Risk Cat II, III, IV Exposure C & D f'c >= 3295 PSI (22.7MPa) Concrete a a a b

Small 30' BLDG Risk Cat II, III, IV Exposure C & D Wood, G=0.42 Min., Cp = 1.6 c c c c

Anchor Kit

a-3/8" Wedge Anchor (8) b-5/8" Wedge Anchor (2) c-M8 x 76mm Lag Screw (10)

Min. Emb. 2" 4" 2 1/2"

Min. E.D 6" 4 3/4" 3/8" into side grain

Min. End D. 1"

Note: Installation into woods requires the use of (2) 2x wood bucks. 2x shall be securely anchored to transfer load to building structure.

State of Florida Approved
Miami-Dade County, Florida NOA No. 21-1012.03
Expiration Date October 6, 2026


